fERLR—k

B16[a] 2 [E hop A ZE TIE R RS

15X EBFEAR R4S H 20~30 A
AT AR ERE
ROUND2-G1
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1 [FE et (T45) 30 =¥ 17.36 7.38 24.74
2 |AFEERR (HF#%) 30 =K 16.80 17.08 23. 88
3 |EH ED (Zh%) 8 JIWNT 7 16.66 7.02 23. 68
4 |HepkE Fne () 68 =—/3A R 16.38 6.84 23. 22
5 |/\HEZIT (LEB) 8 I NN Ty 16.10 6.90 23. 00
6 [JEE BEX (FRZ)1) 68 =— XA K 15.96 6. 72 22. 68
TORE (FHE) 30 = 15.26 6.48 21. 74
8 WA Hih N =) 30 =¥ 15.12 6.36 21.48
ROUND2-G2
NEAE 4 Hi il ¥4 TEC _ ATH Total
1 [faA sk (HF (i) 68 =— XA R 17.92 7.50 25. 42
2 |FEFFEEEA (hi#R) 8 VNI T 7 17.78 7.62 25. 40
3 [k HER (AkifgiE) 8 VNN Ty 16.80 7.26 24. 06
4 HME FE (HiA) 8 VNN Ty 16.66 17.38 24. 04
5 |=8 mX () 8 VT 5 16.38 6.90 23. 28
6 |rgiE (g &) 30 = 16.10 6.78 22. 88
TR B (#EB) 30 = 15.96  6.90 22. 86
8 |AH I () 30 = 15.82 6.96 22.78
ROUND2-G3
NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
1 [Ho HEE (E9) 8 ZIWNT 7 17.78 7.56 25. 34
2 |ER R (AbifgiE) 30 =2 17.36 17.38 24. 74
3 |HABRAEAN (T45) 30 =¥ 17.22 7.44 24. 66
4 [\ H KRR (LER) 8 JIWNT 7 16.38 6.96 23. 34
5 | T KRz (R #) 24 U wvay 16.10 6.90 23. 00
N PNy (Ju) 68 =—/3A R 15.96 6.78 22.74
T |FEE ELO (%Y 30 = E 15.82 6.72 22.54
8 |l AT (#[) 68 =—/3A R 14.98 6.42 21. 40
ROUND2-G4
JEAE 4 Hi il ¥4 TEC  ATH Total
1 [BE AT (RIR) 30 = 17.08 7.26 24. 34




ﬁ?ﬁ% |/7|—{’_|\ 516142 [E h AR 22 il R RS
1 EE%%ﬂE Aﬁz AH4HE3H29~30H
AT AR ERE
2 |iEA 2E (KBR) 68 =— XA R 16.66 7.14 23. 80
3 [ErR = (B &) 68 =— XA R 16.24 7.02 23. 26
4 |5 BK (Z50) 8 VT 5 16.10 7.02 23. 12
5 |B&H  Kar (g &) 68 =— XA R 15.26 6.48 21. 74
6 |HF O () 68 =— XA R 15.26 6.24 21. 50
TOEA ER (trm) 30 = 14.14 6.12 20. 26
8 |FF HER (FERS) 8 J T 7 14.14 6.12 20. 26
ROUND2-G5
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1 |EE REE (J&JE) 68 =—/ XA K 17.78 17.38 25. 16
2 PrE A (HA) 8 JIWNT 7 16.66 7.20 23. 86
3 |4k RABA (LEB) 8 JIWNT 7 16.80 7.02 23. 82
4 |#E B4 (RERS) 30 =¥ 16.52 7.02 23. 54
5 | ON) 68 =—/3A R 16.52 6.96 23. 48
6 |ZHE frok (&%) 8 JNANLT 7 15.12 6.42 21.54
TP T (Hi24) 30 =¥ 14.98 6.48 21. 46
8 |REF KiE N=)) 68 =—/3A R 14.98 6.30 21.28
ROUND2-G6
NEAE 4 Hi il ¥4 TEC _ ATH Total
1 |lEE L (i) 8 VNI T 5 18.06 7.86 25. 92
2 |aM HAL (Z1%) 68 =— XA R 16.80 7.26 24. 06
3| K (FRZ)1) 30 = 16.52 7.14 23. 66
4 |5 HhilE (Z5n) 68 =— XA R 16.10 7.02 23. 12
5 [BHEE KiE (30 17— % 7— 16.24 6.84 23.08
6 |fBZA B (H#HE) 8 VLT 5 15.54 6.54 22. 08
TRk M () 8 J T 5 14.98 6.24 21.22
8 Il Fhbi (e 450 8 J NI T 5 14.14 6.18 20. 32
ROUND2-G7
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1[4 &% N=)) 68 =—/3A R 17.36 7.56 24. 92
2 |RE SR €3] 68 =— AR 17.36 7.20 24. 56
3 |fEEF EnZ (Z) 68 =—/3A R 16.94 7.14 24. 08
4 [lEFHRZE A (K57) 8 JIWNT 7 16.52 6.90 23. 42
5 [fhf BirH (FRZ)10) 68 =— XA K 16.52 6.90 23. 42




fERLR—k

HF16[a] 2 [E hop A ZE TiE R RS

1 E E % %ﬂﬁl *ﬁ? AH4HE3H29~30H
AT AR ERE
6 [IA #EX (e8) 8 VNN Ty 15.82 6.66 22. 48
TORAR o (W) 30 = 15.68 6.66 22. 34
8 I HE (F)) 68 =— XA R 15.12 6.36 21. 48
ROUND2-G8
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
L[Frhd B (AR 0) 30 =¥ 16.94 7.20 24. 14
2 | I (LEB) 8 I NN Ty 16.80 7.26 24. 06
3 PIA S (Hi24) 8 JIWNT 7 16.94 7.08 24. 02
4 |RER A (AbifgiE) 30 =2 16.52 17.02 23. 54
5 |AH (FE) 30 =¥ 16.24 6.96 23. 20
6 |fEuk  HERE () 8 JIWNT 7 15.68 6.54 22. 22
7 |RES RhE (e %) 24 U wvay 15.12 6.48 21. 60
I [ N (REA) 8 ZIWNT 7 14.56 6.24 20. 80




